| Efficiency vs Dxy |
> 0.1
<

5 S
L e S A
< A T T
@.08—----%------% ------- R St S ALY UL AR
@ A T T
KT O e A S (S S S S S
© : : : : : : : :
0.06 -ttt

Q08
OO
003
.00 0 e e o o e
QO

:IIII:IIII:IIII:IIII:IIIillll:llll:IIII:IIII:IIII
o QE T
@© I : : : : E E E E
(ne L

o 8 S

06 b

_2BT20-15-10 =50 5 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_baseline
[ Efficiency vs Dz | |—s— DQM_mkFit_baselinesiter

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3
N 0.1 ; : . .

9.09
Py
Hos
(&)
.07
()
0.06F
0.05
0.04
0.03
0.02

0.01
o+

ks 5 5
. E . .
: ' 44 - o
: [ :
o 4 b

+*

30 20 -10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


